MAE165 3m Euro TW MAE265 3m Euro TW
MAE166 4m Euro TW 1 MAE266 4m Euro TW 1
-— -—

AR0083 Euro-Tw (m) MC0009 @ 14 nozzle
AU0027 fitting 10 MC0010 @ 18 nozzle 10
AU0033 fitting M12x1 35 mm2 10 MCo128 @ 16 nozzle 10
AU0079 fitting M10X1 10 MC0129 @ 14 tapered nozzle 10
BWo0018 Euro nut plastic 10 MD0003-08 @ 0.8 1/4 - 28 UNF tip 20
BWo0020 Euro nut metal 10 MD0003-09 @ 0.9 1/4 - 28 UNF tip 20
BWO0153 hanger 10 MD0003-10 @ 1.0 1/4 - 28 UNF tip 20
BWO0195 back box @ 14 1 MD0003-12 @ 1.2 1/4 - 28 UNF tip 20
BX0020 trigger 10 MDO0008-06 @ 0.6 M6 tip 20
BX0024 long trigger 5 MD0008-08 @ 0.8 M6 tip 20
BX0068 long trigger-micro 5 MD0008-09 @ 0.9 M6 tip 20
BX0200 faston 2.8x0.8 10 MD0008-10 @ 1.0 M6 tip 20
BX0206 pin @4 10 MD0008-12 @ 1.2 M6 tip 20
BX0290 coupling 10 MEO00O1 diffuser 10
EA0018 screw M4x6 50 MF0002 torch head - 50° 1
EA0075 nut M12x1 10 MFO0145 torch head - 60° 1
EA0120 o ring @ 6x2 10 MFO146 torch head - 45° 1
EA0128 o ring @ 4x1 NBR 10 MHO0052 25 mm2 @ 6.3 mm (m)
EA0291 hose clamp cable 25 10 MH0243 25 mm2 3m 1
EA0297 spanner 1 MHO0244 25 mm2 4m 1
EA0342 spring 1 MHO0245 4.6m 1
FA0027 liner nut M11x1 10 MHO0310 16 mm2 3m M12x1 - M10x1 1
GMO0011 @0.8-1.0 4.6m 1 MHO0311 16 mm2 4m M12x1 - M10x1 1
GMo012 @1.0-1.2 4.6m 1 MP0052 black handle @ 15.5 1
GMO0230 @0.9-1.2 4.6m Teflon 1 MQO0004 @10.5x14 L=112 10
GMO0705 @0.9-1.2 4.6m Teflon kit 1 MQo129 insulator L=90 10
MCo0005 @ 11 nozzle 10 MS0001 @ 4.0 Teflon 10
MCo006 @ 14 nozzle 10 MTo070 for 256 mm2 cable 1
MC0007 @ 18 spot weld. nozzle 10 MT0075 complete handle 1
MCo008 @ 11 nozzle 10

XXXX-XX| STANDARD CONSUMABLES IN BLUE

[ ] COMPLETE TORCHES [ ] CONSUMABLES CONNECTORS SPARE PARTS

o0 | & | ﬁ;/‘/oﬁmc]‘

your welding partner



Pg
)

CONSUMABLES

MFo002 —
MHO0310
MHO311 ™~

Me
MD0008-08 —— /

MC0006 — /

EA0342
BW0195 | H =
EA0018 | ) i > MQo004 —
FA0027 .l . oo B
EA0128 0R |
MF0002
o A oo
AR0083 / "
Euro TW MQOo129
- Teflon liner | Steel liner
= /JMSOO(N GMoo12...
B
0.75 Kg
EAD120 '130’ Far /- im
- m
\'J 113 180A CO2
LINERS peak 140A Mix
Pg
ﬂ
CONSUMABLES e

B)(Duz-l — ‘
EOnee _"-

ME0001 —y

MDo-:mw—/

MCo009 /

ARooss =
Euro TW

=

MQo129

Steel liner

Teflon liner EHOgI2

EAot20

LINERS

MF0145 MFO146
1Kg
40
va’ S sam )\
Vv 113 0.8-09 250A CO2
peak LWyl 1.0-1.2 200A Mix

Jrorimet

your welding partner

-

WELDING




